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PART—A
- SPOTTING ERRORS

Directions : Each item in this section has a sentence with three underlined parts labelled (a), (b)
and (c). Read each sentence to determine whether there is any error in any underlined part and
indicate your response in the Answer Sheet against the corresponding letter, i.e., (a) or (b) or (c).
If you find no error, your response should be indicated as (d).

1. A company of five thousand soldiers,

having marched tirelessly for over five days,

(@)

have just moved into their cantonment.

(b)

No error

(c)

2. Every person who believes in principles

(@)

must stand up to fight

(a)

for their convictions. No error

(c) (@)

3. The Olympic Games reflects

(b)

the highest spirit of

(@)

human endeavour and achievement.

(b)

No error

(c)

4. The principal of the school

stressed the need for discipline

(@)

amongst the students.

(@)

No error

(@)

SDFR-F-TAG/44A
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5. Failure is the stepping stone to success; however, successive failures are not
(a) (b)
successive stepping stones to success. No error
(c) (@)
6. India’s strengths are its diversity of culture and
(@) (b)
the spirit of tolerance in it’s people. No error
(c) (d)
7. Once considered ninth planet of the solar system, Pluto is today listed as the
(@) (b)
largest dwarf planet of the solar system. No error
(c) (@)
8. The greatest glory in life is to be able to realize ones dreams and ambitions
(@) (b)
without trampling on those of others. No error
(c) (d)
9. To be able to manage one’s anger is a reflection of an individual’s
(@) (b)
psychological maturity. No error
(c) (d)
10. A honest mistake is no more than that; just an honest mistake. No error
(@) (b) (c) (d)

SDFR-F-TAG/44A 3
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IDIOMS AND PHRASES

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.
Choose the most appropriate answer from among the options (a), (b), (c) and (d).

11. Counting your chickens 16. Under the weather
(a) confident of success (a) walking in the rain
(b) greedily accumulating wealth (b) controlled by the elements
(c) being careful about spending (c) browbeaten by the heat
money
(d) unwell
(d) getting scared because of danger
12. The icing on the cake 17. To sit on the fence
(a) baked food that is delicate and (a) to act promptly
delicious with a topping (b) to be lazy

(b) extra benefit over and above an
already good deal

(c) getting what you asked for

(¢) to be undecided
(d) to sit without doing anything

(d) more than what is needed 18. Once in a blue moon

13. A stitch in time (a) romantic moment
(a) tailoring one’s efforts efficiently (b) occasionally
(b) making an effort to succeed (c) rarely

(c) inability to take timely decision (d) often

(d) timely action that prevents a

DEDIS, PRIt 19. Through thick and thin

14. At sixes and sevens (a) in genuine friendship
(a) on top of the situation (b) through the best of everything
(b) state of denial (c) among people both fat and slim
(c) state of total confusion (d) through difficult times

(d) well-planned and prepared

15. Talking twenty to the dozen 20. Like chalk and cheese

(a) talking hurriedly and rapidly : (a) very different from each other
(b) talking too much (b) without any blemish
(c) talking without making sense (c) pure white in colour

(d) talking out of turn (d) very like each other

SDFR-F-TAG/44A 4
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ORDERING OF WORDS IN A SENTENCE

Directions : Each of the following items in this section consists of a sentence, the parts of which have
been jumbled. These parts have been labelled P, Q, R and S. Given below each sentence are four
sequences namely (a), (b), (c) and (d). You are required to rearrange the jumbled parts of the sentence

and mark your response accordingly.

21. but perhaps the best way is to agree there are many ways of dealing
P Q

with them without excessive argumentation with intransigent customers
R S

The correct sequence should be

(@) QPRS (b) QSPR
(c) PSQR (d) RSQP
22. in the years following India achieved remarkable economic development
P Q
liberalization in the year 1991 the landmark reforms inaugurated via
R S

The correct sequence should be

(@) PQRS (b) PRSQ
(c) SPRQ (d) QPSR
23. was the victory secured by the women’s hockey team in the arena of sport, perhaps
P Q.
against Australia in the Tokyo Olympics
R
the greatest moment in Indian Olympic history
S

The correct sequence should be

(a) SPQR (b) RPQS

(c) QSPR (d) QRPS

SDFR-F-TAG/44A 5 [[RIx0.
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24. in terms of GDP and GNP, for gauging the success of a nation
P Q
which are the two major determinants economic progress is determined
R S

The correct sequence should be

(@) SQRP (b) RPQS
(c) SPRQ (d) QRPS
25. with the aplomb of a stage artist, that they are not men of straw
P Q
they can twist and shake their wobbly heads mesmerizing the gullible into believing
R S

The correct sequence should be

(@) PRQS (b) RPSQ
() SPQR (d) QRPS
26. of its rain-soaked verdure and on the other there are
. Q
on the one hand there is the immense beauty the artifacts of its visible modernity
R '- S

The correct sequence should be

(@) PRQS (b) QRSP

(c) SPQR (d) RPQS

27. are often rooted the causes of extreme poverty
P Q R

in the inequalities of social systems
S

The correct sequence should be
(@) QRPS (b) QRSP
(c) SRQP (d) SRPQ

SDFR-F-TAG/44A 6
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28. a person by the way

he behaves and

you must judge

P

not by the way he looks
S

The correct sequence should be
(@) RPQS
(b) QRSP
(c) RSQP
(d) QPSR

29. to the greatest number of people

R

that causes the least discomfort

LA

whenever in doubt

Q

always opt for the option

R

The correct sequence should be
(@) RQPS
(b) QRSP
(c) RSQP
(d) QPSR

30. brought by bad times

against the despondency

S

our greatest defence

P

faith and belief are
S

The correct sequence should be
(@) RQPS
(b) SRQP
(c) RSQP
(d) QPRS

SDFR-F-TAG/44A
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ANTONYMS

Each item in this section consists of a sentence with an underlined word followed

by four words (a), (b), (c) and (d). Select the option that is opposite in meaning to the underlined word
and mark your response in your Answer Sheet accordingly.

31. He is essentially a crude person.

32.

33.

34.

35.

(a) coarse
(b) refined
(c) eager

(d) balanced

His confidence is high.
(a) diffidence
(b) eagerness
(c) steadfastness

(d) endurance

His integrity is noticed.
(a) skilfulness
(b) ability
(c) dependability
(d) dishonesty

She is a benevolent individual.

(a) clever
(b) muddled
(c) malevolent

(d) ambivalent

His sartorial manner is judged.

(a) unstylish
(b) uncompromising
(c) common

(d) crude

SDFR-F-TAG/44A

36.

37.

38.

39.

40.

This piece of art is authentic.
(a) genuine
(b) expensive
(c) rare

(d) fake

The deluge affected the population.
(a) cloudburst
(b) drought
(c) deforestation

(d) drizzle

His dedication is known to all.
(a) clarity
(b) hostility
(c) apathy
(d) anger

His perspicacity was remarkable.
(a) smartness
(b) dullness
(c) dedication

(d) deviousness

He has a penchant for spicy food.
(a) tendency
(b) affinity
(c) fear

(d) dislike
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SYNONYMS

Directions : Each item in this section consists of a sentence with an underlined. word followed
by four words (a), (b), (c) and (d). Select the option that is nearest in meaning to the underlined word
and mark your response in your Answer Sheet accordingly.

41. After a good meal, it is important to pay a 46. He is always jovial.
compliment to the chef. (@) cheerful
(@) tip (b) callous
(b) ‘praise (c) garrulous
c) admonish (d) credulous
(d) revile

47. Mohan remains morose these days.

42. His work is laudable. (@) introspective

(a) praiseworthy (b) generous

(b) laughable (o) chirpy
:‘;’) :’°13 (d) sullen
ou

48. He was a reluctant learner.

43. Raj is a competent ; Tk
j is a competent carpenter (@) enthusiastic

(a) capable

(b) eager
(b) exceptional s
(c) unwilling
(c) inadept
(d) fearful
(d) clumsy
49, Amit is optimistic about the prospects of
44, He is diligent in submitting assignments. his investments.
(@) dilly-dallying (a) pessimistic
(b) procrastinating (b) uncaring
(c) intelligent (c) carefree
(d) conscientious (d) sanguine
45. He appears to be reticent. 50. Sachin is very cooperative by nature.
(a) expansive (a) complaisant
(b) jolly (b) covert
(c) silent (c) complacent
(d) withdrawn (d) conniving

SDFR-F-TAG/44A 9 [(ETHO:
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HT—B

51. 400 J/(kg °C) fafdte o uiften & ot 5= 54. Fefafga # & FH-T/FH-3 FF 4 fagg

F1 FHE F1 B, S 20 kJ FS1 YW 2R
W FHH A9HE 15 °C ¥ 98 25 °C & ST
27

(a) 0O-1 kg

(b) 1kg

(c) 10 kg

(d) Skg

52. forelt ward & amg 6 fafime T wo, T H

€ HEAT S 39 Yeid % UhHish FeUHM HI

(@) T9EE § afedd & 919 59 AT ¥ 91y
g # ufafdd & fog seaws
Bt &

(b) EE ® forn 18 yfada fopy g9 srawen
¥ 9 IRy ¥ qfEfdd A %
v Bl &

() a9 A # T w1 ufeda feg amg
T A 3 ey § uRafdd w9 %
g, stravae Bt 2

(d) AIHH F qREda & |y 9Ty STERy ¥ 549
e ¥ ufafda #0 * fog e
Bl &

53. fdt Ry T 3@ % g8 A ardieo ww e

asht @ 2 27

(@) 59 q9HH I= & R FA O yEy
A% Fa &

(b)) V& dE T @ R 3@ w1 wl
TP Teq B

() & d9am = @ R 3@ W gdw
%A @Y B

(d) S9 A 3= & MR T W UE™
% Y |

SDFR-F-TAG/44A
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AT % ¥ gaTeHS 9a F A B ThE
FY Y AT HA1 2/ &7

1. SF! & YAHF
2. THI &Y TS §)
3. M ray favda smafE §)

A3 R 0 g2 1 i I g
(@ FFd 1

(b) FaA 2

(c) Fad 1 3R 2

(d 1,23R3

55. 50 ohm WilY % TH Agd IR H G &R

ARl % ¥4 N FE A1 8| q9d1q 37 qW A
oA § wAf TR S ®1 5@ @9
e wfeliy = dm?

(@) 2 ohm
(p) 10 ohm |
(c) 0-5 ohm

(d) S5 ohm
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PART—B

51. What is the mass of a material, whose 54, Which of the following statements

specific heat capacity is 400 J/(kg °C)
for a rise in temperature from 15 °C to
25 °C, when heat received is 20 kJ ?

correctly explains/explain the existence
of a positive force between two electric
charges?

21 ke 1. Both the charges are positive.
(b) 1kg
2. Both the charges are negative.
(c) 10 kg
(d) 5kg 3. Both the charges are oppositely

52. The specific latent heat of vaporization

of a substance is the quantity of heat
needed to change unit mass from

(@) liquid to vapour with a change of
temperature

(b) liquid to vapour without a change
of temperature

(c) vapour to liquid without a change
of temperature

(d) vapour to liquid with a change of
temperature

53. Evaporation from the surface of a given

liquid takes place more rapidly when

charged.

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

() 1 and 2 only

(d 1,2 and 3

55. An electric wire of resistance 50 ohm is

cut into five equal wires. These wires
are then connected in parallel. What is
the equivalent resistance of this

(@) the temperature is high and the combination?
surface area of the liquid is large
(b) the temperature is low and the [ % ol
surface area of the liquid is large
(b) 10 ohm
(c) the temperature is low and the
surface area of the liquid is small (c) 05 ohm
(d) the temperature is high and the
surface area of the liquid is small (d) S ohm

SDFR-F-TAG/44A
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56. T gt o7 AARE =@ M F FWO T 59. f=fafad 3 4 #=-w wamfE gied 27
areft ferrq & v S et 87

(@) S H TR F A ST
(@) T U8 W WY -Gy

(b) % 1 g
(b) EH Y8 W GHHI W AR T & F3

e (c) Toreem

(c) =T 98 & foreft oft wor s

(d) I 98 ¥ RV W AR A F ¥y

¥ 9T i 3R
60. IR I A N wWieHa (+1) 3R
FEMS FOMH H GEEA (<2) 2, @
frefafaa & @ it wERe = @@
57. Fr=feafad & & S9-a1 faemm 78 #7 B b
i
oy (@) (NHy), CO4
b
1 (b)) NH, (CO3),
i (c) (NH3), CO4
(d) w&a
(d) NH,CO,
. fefafes & @ o ol =1 =@
L ﬁaﬁmmaﬁmmwvw 61. F=fafaa #§ & F-u1 geadiee D 27
(a) TR (@) Ffcoam ieane
(b) NS ATHH (b) wifETm TS
i () Taferw Fraiee
(d) (d) 5% dcwge

SDFR-F-TAG/44A 12
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56. The electric field lines from an isolated 59. Which one of the following is a chemical
positively charged conducting sphere change?
are :

3 (a) Dissolving sugar in water
(a) tangential to the conducting

surface
(b) Melting of ice

(b) at right angles to the conducting

surface and towards the centre of (c) Crystallization

the sphere

. (d) Milk turning sour

(c) at any angle to the conducting

surface

(d) at right angles to the conducting
surface and outwards from the
centre of the sphere

60. Which one of the following is the correct
molecular formula of ammonium
carbonate if the valency of ammonium
ion is (+1) and carbonate anion is (-2) ?

57. thch' one of the following is not a (@) (NH4),CO3
solution?
(@) Alloy o NN
(b) Milk (e ;iH3)3C04
(d) Sugar

61. Which one of the following is a covalent

58. Refining of petroleum is carried out using compound?
which one of the following techniques?

(a) Calcium oxide
(a) Evaporation

b) Sodium nitride
(b) Fractional distillation (v)

(c) Separating funnel (c) Silicon carbide

(d) Sublimation (d) Zinc sulphide

SDFR-F-TAG/44A 13 [P0
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62. AT N TEHE wE&A 40 3| Freafafe § @ 65. F=fafaa & 4 #F-w wfiusa ¥ SI 9=

FH-91 H9F & 27 (STRIE A=) h ¥e ®9 F 9iar 27
(@) T F W A G 22 B) (@ Q
(b) T F =l B weT 18 B (b) Q/m
(c) ¥ H e 6 GEa 18 B i) e
’ (d Qm
(d) AT # WelHl iR gl h gest
1 A 40 B
66. 240 V i =g AYfd ¥ 60 W F TH d9eN
a1 ACIFRD FA 5 o fradt forgq-uma
63. Ne, Si, N 3R Mg aw! 6 wdswal &1 98 I EvIFar geft?
w0 Frafafaa § & $9-a1 27
(@ 05 A
(a) Ne <Mg <N < Si
(b)) 025 A
(b) Si<N < Mg < Ne
(co 1-0A
() Ne <N<Si<Mg @ 50A

(d) Mg <Ne <N <Si

67. Tt fogqardl Y ar g1 ar @ ae e farg

64. ool ymadl v 6t smgfi 3 Hz )1 sEe I
I T RY (@ TR e
(@) Wﬁaﬁﬁl6cycles/s% (b) m?ﬁ% m:
(b) FEH AR 3 cycles/s ? (c) T8 @Y T W Fwwa: v 3a@ 9
R STFEA:
(c) WﬁEHTQﬁZ cycles/s &
(@) B {ﬁ (Ffﬂ Qf' ) ED eaaailqa: 3R
(d) & gfd Fadt 1 cycle/s ® 798 g (€ g W) % Fowwa:

SDFR-F-TAG/44A 14
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62. The mass number of argon is 40. Which
one of the following statements is
correct?

(@)

(b)

(c)

(d)

The number of protons in argon
is 22

The number of neutrons in argon
is 18.

The number of electrons in argon
is 18.

The sum of numbers of protons
and electrons in argon is 40.

63. Which one of the following is the correct
order of the valencies of elements
Ne, Si, N and Mg ?

(@)

(b)

(c)

(d)

Ne <Mg <N < Si

Si <N <Mg < Ne

Ne <N < Si <Mg

Mg < Ne <N < Si

64. The frequency of an alternating current
is 3 Hz. It implies that

(a)
(b)
(c)

(@)

there are 6 cycles/s
there are 3 cycles/s
there are 2 cycles/s

there is only 1 cycle/s

SDFR-F-TAG/44A
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65. Which one of the following correctly
represents the SI unit of resistivity?

(a)

(b)

(c)

(@)

Q

Q/m

Qcm

Qm

66. What is the current required to light a
60 W incandescent bulb in a domestic
supply of 240V ?

(@)

(b)

(c)

(@)

67. The

05 A
025 A
1-0A

50A

magnetic field produced by a

current-carrying straight wire at a point
outside the wire depends

(@)

(b)

(c)

(@)

inversely on the distance from it
directly on the distance from it

inversely at short distances and
directly at large distances from it

directly on the distance (at short
distances) and inversely on the
distance (at long distances) from it

[ P.T.O.
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68. T fRRTE i famn (Srgive) @ 87

(@ ML3T2

) M

(c) M2L2172

(d Mm2L172

69. TH g &l 40 m/s I A A FEAE IR

AR Heh S R| e B Aferan S 9%
g | T TR @ @m?

(@ 2 s
(b) 3 s
(c) 4 s

d 5s

70. 1 m @ WA H SR ATHT TFEH

TR 27
@ 6s
(b) 4s
€ 2s

@ 1s

SDFR-F-TAG/44A
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71. Fefaflad § § FH-91/F0-8 w07 Gofla 3R

Fsfa wfor & aw & wdt #/37

1. osfa yoft gfg ik moma (fisr) wefifa
T HFhal B, weih Fsffa ot 78 =
gohdl B

2. gsia yoft Iyt ufshard wefdfa =@
B, St fsffa ymoft & s 21

= fag Tg 2 1 wEm W Ed W ghe
(@ Fad 1

(b) FaA 2

(c) 1 3R 23Ht

(d IR 1ARTIE 2

72. fafafea & @ FF-w1 URY @O9w  (wiE

wWfRe) ue (WH), da 3R WA whmmsi
I Tafed L 7

(@) TS (FARRE)
(b) 3Faofl T (SRITTRE)
(c) TEa (FHRE)
(d) daaas (SFeme)

73. T=fafaa # @ #9-w 9 @uH (JagsE)’

% R # Wl T 87

(@) UEH #, TF 9€1 Fg W Bd § W
Fl HITTHT ST HT 90% B Fehell B |

(b) aTTeEfa wifERed #, wWur whifd @
gedl Y& ! & |

(c) @oftal #, w@ar fi dw 7 i A
7l

(d) <ig Bt § @ 7€ ad §
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68. What is the dimension of gravitational

constant?
(@ ML3T2
(b) M -1 L3 T—2

(C) M 2 L—2 T—2

(d) M2L—1T—2

69. A ball is thrown vertically upward with a
speed of 40 m/s. The time taken by the
ball to reach the maximum height would
be approximately

(@) 2 s
(b) 3 s
c) 4s

(d S5s

70. The time period of a 1 m long pendulum
approximates to

(@) 6 s
(b) 4 s
(c)=2's

d 1s

SDFR-F-TAG/44A 17

71. Which of the following statements about
living and non-living being is/are
correct?

1. While living being can demonstrate
growth and repair, non-living being
cannot.

2. While living being demonstrates
metabolic processes, non-living
being does not.

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

72. Which one of the following plant plastids
stores starch, oil and protein granules?

(a) Chloroplast
(b) Leucoplast
(c) Chromoplast
(d) Xanthoplast

73. Which one of the following statements
about ‘vacuoles’ is not correct?

(a) In plants, there is a large central
vacuole that may occupy 90% of
total cell volume.

(p) In plant cells, vacuoles provide
turgidity and rigidity.

(c) In Amoeba, vacuoles have role in
nutrition.

(d) Vacuoles are absent in animal

cells.

[P.T.O.
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74, S A & a9 a1y Sl (ww dw)
ICAEA UNE WeH w81 3 At
Frafafaa & @ fFa vwR & @i g Bl
Tt &7

(@) Toaeh (F=hrgan)
(b) YANIF (Fici<hTEd)
(c) TEIah (TRITEHIZAT)

(d) Gy Sas

75. Fefafas 4 @ #9 e o (Refiw)’ @
wfaifea 27

(a) SHfHw
(b) Srefiftem
(c) Tacarfem

(d) wRiEm

76. Frafafea & @ frm =t <1 ‘Fawafa g =
Srereer=r (Yesfer)’ e st &7

(@) STEETEE
(b) deiETE
(c) 2MerdmEe
(@) sFgaEsh (fmemd)

SDFR-F-TAG/44A 18

77. Fefafea & & FF-w A1 w S Iy

(Fferet 4em) 3 o B 37
(@) T

(b) IR

(c) Hifag-19

(d) CIRHIFS SR

78. g v @ an ufeam 87

(@ TR % VE@ F dgused  fada
(fedrarer)

() TR F WHW H dYHSAE  WEH
(GeSEED)

) TR F THM H APHSHE AT
(Fpamm)

(d TR F VHEW H dAPHSAE  IREYY
(feqmi)

79. TFdt somm M 9 TEe fuma ¥ ufmmids

9 3R TF Afow wHaa W e (gef) g
a1 911 81 S H M ) died § R
w1 1 87

(@ A
(b) ETHH
(c) *a

(d) TOTHE
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74. In aquatic plants, large air sacs give them
buoyancy effects. These sacs are
surrounded by which one of the
following types of tissues?

(a) Parenchyma

(b) Collenchyma

(c) Sclerenchyma

(d) Complex tissue

75. Which one of the following belongs to
‘Pisces™?

(a) Dogfish

(b) Jellyfish

(c) Silverfish

(d) Starfish

76. Which one of the following groups is
called ‘amphibians of plant kingdom’ ?

(a) Bryophytes

(b) Thallophytes

(c) Pteridophytes

(d) Gymnosperms

SDFR-F-TAG/44A 19

77. Which one of the following is caused by a
bacterial pathogen?

(@) AIDS

(b) Dengue fever

(c) COVID-19

(d) Typhoid fever

78. The twinkling of a star is due to the
atmospheric

(a) diffraction of starlight

(b) reflection of starlight

(c) refraction of starlight

(d) dispersion of starlight

79. A mass M is dragged by a pulley on a
horizontal plane by a force anti-parallel
to its displacement. The work done in
pulling the mass M is

(a) zero

(b) positive

(c) infinite

(d) negative

[P.T.O.
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80. 10 kg s=8HM 1 @ fham &, @ 5 N 84. TF dw frHe T IS 35 ®, WY F SR

5 gReTfa |rar 87 Ued W AYNG 3H$ GASHal 9 A
@) 5,0 cinfe? o B v e PR 3 @ w0 a?
(b) 05 m /s> (@ 1
() 05 cm/s? (b) 3
5
(d) 50 m/s? (c)
@ 7

81. 52 kg SAAM W TF Wiehl 3 kg FAHH i
Foreft foR Ia-mdl (F18) W 2 m/s & &few 85. fmfaflga & @ =A-# afufrn, =g

A | Faal 8| - F oo ufgw @@ ¥ arffren (Wi Rt =1 e =@ 27
Ian-met it =t Frafafaa § & w0 efi?

(@) AICl + 3H,0 — Al(OH); + 3HCI
(@) 2:15m/s

(b) 2NaH ->2Na +H,
(b) 1-89 m/s
(o) 5191 T (c) 4Fe + 30, — 2Fe 04
(d) 2:51m/s (d) CuSO4 +Zn — Cu+ZnSO,

82. Aot feufe s1en ey # qfada & =R et 86. ffaflgd & @ FH-w FEA H 9T,

e (af€h) g aifta =1 1 o1 Fga &7 Toreeeia fafere % wamsfaes 27
(@) S Sl (@ FF
(b) Teufes =i )
(c) st il ().
(d) g Fsi g R

83. U% @l a0 @l AP 1 kHz 3R TR
50 cm 1 1 km I g @@ F A @ 87. Frafafaa #§ & F9-w1 TRgem T % w1 7

foramn wmg wm?
(@) T die
(@) ¥ s X
\ Y. (b) G
(C) 3s (C) A1
(d 2s (d) TER
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80. A 5N force is defined when a mass of 84. For an element with atomic number 35,
10 kg is accelerated with which one of the following will be the
correct number of electrons in its

; 2
(@ 50 cm/s valence shell based on Bohr’s model of

(b) 05 m/sg an atom?
(c) 05cm /s2 @1

(b) 3
(d) 50 m/s?

() S

@ 7

81. A boy of mass 52 kg jumps with a
horizontal velocity of 2m/s onto a
stationary cart of mass 3 kg. The cart is
fixed with frictionless wheels. Which one
of the following would be the speed of

85. Which one of the following is not an
example of a redox reaction?

the cart? (@) AICl; +3H,0 — Al(OH); + 3HCI

(@ 2:15m/s (b) 2NaH — 2Na +H,

(b) 1-89m/s (c) 4Fe +30, — 2Fe 04

() 151m/s (d) CuSO, +Zn — Cu+2ZnSO,

(d) 2-51m/s

86. Which one of the following allotropes of

82. The energy possessed by a body due to carbon is isomorphous with crystalline

its change in position or shape is called silicon?

(a) thermal energy (a) Coke

(b) potential energy () Diamond

(c) kinetic energy () Graphite

(d) electric energy (d) Coal

83. A sound wave has a frequency of 1 kHz

and wavelength 50 cm. How long will it 87. Which one of the following is the colour of

take to travel 1 km? hydrogen gas?
(@ S's (a) Light yellow
(b) 4s (b) Orange

() 3s (c) Black

(d) 28 (d) Colourless

SDFR-F-TAG/44A 21 [ PT:0:.
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88. Fimfaflad # & HF-w1 avis (fmie) = 27

(a) T stiaarse
(b) = (i)
(c) e Hr
(d) fTafer

89. IF ¥ Hay #, F=feifad # 4 F\-w1 Hu=

| & R7

(a) I HIEHRETH Iah B

(b) Ta1H I9F % WA | Fa1 Y Il et
Bl

(c) IA T@ 3R I a9 W WA R
e RS 1 AR gr i
ST ST el B

(@ I # I I f oemEn it
RIS BT B

90. F=fefaa @ & #F-u1 wu= o & 27

(a) ekt i Rfes forgq % garers
&l

(b) FefE NfER A AEY wEEESE qa
7l

(c) IFTFR 1 IFANT TH Ve & &9 F form
STt B

(d) ¥R, e Hl Teh N9EY 2|
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91. f=fafea & ¥ wm-dh fufFaw, smen

FTfTsRaT 1 Tk IR 87

(a) CHglg) +20,(g) — CO,(g) + 2H,Olg)

(b) 2AgClE)—E " o Agls) +Cl ,@
(c) CuO+H, —= 5Cu+H,0

(d) Fe(s)+CuSOy(aq) —
FeSOy4 (ag) + Cu(s)

92. @M arell (3Re) mifRigs Mivt it Grafafy

frfafaa # & Fa-d 27

(@) 3 3 H foge o &t 8

(b) 2 3] B foE I €

(c) 9w (Sgme) i fomm o &t &1
(d) 3 3T F A=A w1 Y w=d B

93, fmfafad & & foFe urey & g wwferh B 87

(@) udian
(b) Tefoera
(c) @
(@) T

94, T iy, Tl &1 dvaive @ 3§ ramed 2

a1 Fefafad § & FR-w Sfeem Ry
B gl 87

(@) GO Idsefl SfH (WY TErancus
egem)

(b) Ticstt HA (et die)
(c) TTHENE (SATZEEMN)
(d) TR (ATEeIHTT~ga)
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88. Which one of the following is not a

pigment?

(a) Zinc oxide
(b) Chalk

(c) White lead

(d) Silica

89. Which one of the following statements

about fertilizers is not correct?

(a) Urea is a phosphorus-containing
fertilizer.

(b) Application of fertilizer to the soil
increases fertility of the soil.

(c) Urea can be prepared by action of
ammonia and carbon dioxide under
high pressure and at high
temperature.

(d) Urea contains more nitrogen than
other fertilizers.

90. Which one of the following statements is

not correct?

(a) Most carbon compounds are good
conductors of electricity.

(b) Bonding in organic compounds is
covalent.

(c) Graphite is used as a lubricant.

(d) Diamond is an allotrope of carbon.

SDFR-F-TAG/44A

91. Which one of the following reactions is an

example of decomposition reaction?
(@) CH, () +20,() - CO,g)+2H,0f)
(b) 2AgCl(s) —22UEht _,oAg(s) +Cl, (g)
(€ cuo+H, —H ,Cu+H,0

(d) Fe(s)+CuSO4(aq) —
FeSO, (aq) + Cu(s)

92. Which one of the following is the

mechanism of action of oral
contraceptive pills?

(@) They kill the egg.
(b) They kill the sperm.
(c) They kill the zygote.

(d) They inhibit the release of egg.

93. Which one of the following plants has

unisexual flowers?
(a) Papaya

(b) Hibiscus

(c) Mustard

(d) Sunflower

94. A cell is unable to synthesize lipids.

Which of its cell organelles might be
defective?

(a) Smooth endoplasmic reticulum
(b) Golgi bodies
(c) Lysosomes

(d) Mitochondria

[ P.T.O.
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95. @i Il a1 ¥ Fmfea ¥R W Iecrawmar

gTfed Bt € | Seccrashar @41 87
(@) HNGE T
(b) HEgE T
(c) SufegEt e
(d) 3ufegE <@

96. Tt F e gw Fram ¥ orgERr, Il aoH

Jahia & i faen oiv sfper 9res 6 wfa i
fom #t zwifan &, @ Weht g€ wemm Frafafeaa
# 9§ forweht feam gwriwh?

(@) IEH R FEAMA o
(b) T &=

(c) S forg- s

(@) Toggd-vma

97. A WfEF R, 3R R,, T v & vard & ffifa

T 3R U ARE % ¥, UF Sgd 9 giey §
e HaeE § FafeE g1 Ak R, it @,
R, o= | g ®, @ Fa wfedw R FRask
qed Bm?

(@ 3R=2R

(b)) 3R=2R,

(¢ 2R=3R

(d) 2R=3R,

98. 10 cm W% gl % TF Fadal o9 g I

HEYH 1 BN, 99 @9 ¥ 5 cmiﬁqﬁ‘ﬂ
yfafera a=an 27

(@) 2:0

(b) 10

(c) 05

(d) 0-33
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99. 2 kg M #HR (30 cm x 15 cm x 10 cm)

et ot = T F e A o AW W
@l S ®, Fes A5ys (2ewein) = el
FA Y FH (W1FE) 30 cm R 10 em ¥
U W Ued den  (FEdie) @ e
Frafafaa § @ = dm?

(@ 111-1N/m?

(b) 222.2 N/m?

(c) 333.3 N/m?

(d) 666-6 N/m?

100. Tl % 2rR gaTes e ¥ ffifa = 8 &7

1. ifh IgM & <A foom § 9y & o |
TG Ay (I) ® fomm F e
% T T | g # efafa e s
T |

2., % 3@ & I fm d fafm
AP ITERT h YEIOH B BRI
HaR Ay (FN) R e F e
% W A ¥ g § ofafa e s
TF |

= fa Y e w1 yE W ' W gh

(@) Faa 1

(b) HaA 2

(c) 13 23H

(d Ad 1A 2
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95. All objects experience a buoyancy when 99, A wooden box of mass 2kg and

they are immersed in a fluid. Buoyancy
is

(a) a downward force

(b) a downward pressure

(c) an upward force

(d) an upward pressure

96. According to Fleming’s right-hand rule, if

the forefinger indicates the direction of
magnetic field and thumb shows the
direction of motion of conductor, then
the stretched middle finger will predict
the direction of

(a) force acting on the conductor
(b) electric field
(c) induced current

(d) current

97. Two resistors R, and R, arranged in

parallel combination in an electrical
closed circuit are made of the same
material and of same thickness. If the
length of R, is twice the length of Rj,
then the total resistance R satisfies

dimensions (30 cm x 15 cm x 10 cm) is
placed on a table with sides 30 cm and
10 cm touching the tabletop. Which one
of the following is the approximate
pressure exerted on the table?

(@ 111.1N/m?
(b) 222.2 N/m?
(c) 333.-3N/m?

(d) 666-6 N /m?

100. Why are the tyres of aircrafts made of

conducting rubber?

1. So that the charge accumulated on
the aircraft in flight, by rubbing the
air, can easily be transferred to
ground on landing.

2. So that the charge accumulated

(@@ 3R=2R due to the operation of various
(b)) 3R=2R, electronic equipments in the
(¢ 2R=3R aircraft in flight can easily be
i el transferred to ground on landing.
(d) 2R=3R,

98. What is the magnification produced by a

concave lens of focal length 10 cm,

Select the correct answer using the code
given below.

when an image is formed at a distance (@) 1 only

of 5 cm from the lens?

(@ 20 (b) 2 only

i a9 (¢) Both 1 and 2
(€ 05

(d) 0-33 (d) Neither 1 nor 2

SDFR-F-TAG/44A
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101. YRd™ UsHifqw foemam =1 enfash 79, 104. ¥Rd I 63 (Wfcianie) yega: fre dfead W

a7efarre, Wega: fore W a7 e 27
(@) AdTTE (@) A ifciamie
(b) EEHfA (b) Tafem wifthmie
(c) TTETERAT (F2HTHR) (c) 3R (fER) wiE
(d) T (d) Ha ufeiamie
102. %9 T Glaar ferea § g7 105. YA % SUFHA & &9 H 399 4 fora srfe
ol FH 917
(@) B3 TARR g0 Yo
(@) T SR ST
(b) <Ed ¥ 7@l T fo go
(b) =hed = o
(c) =heft Tt $o Yo
(c) TEIE
(d) ui=El ATt $o Yo
(@) oo o Tariel

103. WRfWE g gidwRl 3 g8 H 9 ®9 § &
i) Ffafaa § @ e vl & miegm @ 106. RA & 3 =mmer # rfterfa (Jiafesm)

RIS gidRRI 3 g 6 Iufefa A guiar o7 % s Frfarfaa 3 & w0 7 e 27
(@) Fad R A IR &M (@) e Aftepian

(b) HFA T AR I (b) diett i

(c) ac =, I& IR WM (c) wiafsTee it

(d) TF 3eE, =%, 99 IR WM (d) TgaTESHI SAferei
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101. Arthashastra, the classical work of Indian 104. The Parliament of India is primarily

political thought, focuses primarily on

(a) economy

(b) culture

(c) statecraft

(d) monarchy

based on the model of

(a) German Parliament

(b) British Parliament

(c) American Congress

(d) French Parliament

105. Who among the following had the
shortest span in office as the Prime
Minister of India?

102. When did Charaka Samhita originate?

(a) 6th Century BCE

(a) Lal Bahadur Shastri
(b) 3rd to 2nd Century BCE

(b) Chaudhary Charan Singh
(c) 4th Century BCE

(¢) Chandra Shekhar
(d) 5th Century BCE

(d) H. D. Deve Gowda

103. Early Buddhist sculptors did not show
Buddha in human form. Through which
of the following symbols was Buddha’s
presence shown by the early sculptors?

106. Which one of the following does not fall
under the jurisdiction of the apex court
of India?

(a) Empty Seat and Stupa only

(b) Wheel and Tree only

(c) Wheel, Tree and Stupa only

(d) Empty Seat, Wheel, Tree and Stupa

SDFR-F-TAG/44A

27

(a) Original Jurisdiction

(b) Appellate Jurisdiction

(c) Collegiate Jurisdiction

(d) Advisory Jurisdiction

[ P.T.O.
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107. wRdE dem-fagm fawm & sger, ffafaa

7 A g R (Rese) i faEwa)/
foryard -4t 8/27

1. Hifim oo &9 A, 3eq ey §
e Iuur

2. I UG HHEA ety % X e ®
R T7 AHEF ¢ T -FEeH H
Ifa e @

= g 7T Fe 1 wER W wh W gy
(@ Fad 1

(b) Fad 2

(c) 1 3R 23H

(d AN 13MMAH 2

108. geaft i mfa () R M (WES) W BN

et th wfed == H, dm feenfdEt 3
fFrafafga faar = fora .

1. Taeneff 1 : gt A spfa qoa: oA
(F9eT) e R

2. fonedf 2 : gedht 1 ydw =, fagad
= A Ifer B

3. Tyeneff 3 : fayad &= & faemm 3R,
gedft % URGHH F FRY R

I foenfial & @ 29 wdt ¥/37
(a) Faa faeneff 1

(b) Faa feeneff 1 i faeneff 2
(c) haa faeneff 2 iR faeneff 3
(d) faeneff 1, ferneff 2 3 ferneff 3
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110. 3fyw Effa  gomeh

109. ¥HER @d 994, 19 Tt T % a) § g

g, e o & o veat w7 g e
30 WA F R A R it S SR #
qAT A W AT W G TRd 1 ATIH
Frafafaa & ¥ e/ sawasar anft
e 19 Jfes W 3G T T Gal A Feh?

(@) I8 TIH FT Hae AL
(b) I8 TIM HT Hael IR
(c) 3T T % M AR &7 SH1

(d) 38 T F AL, TR AR 39 WA H
Fedl

(eea  afsfm
fren—sfio o wgo) & day ¥, F=fafaa
A ¥ ®F-91 HYA G TE R7

(@) ¥ 9eft Y ferm = @ SWE F Jeah
TR agTid B

(b) T= TremiEa vgfa w enurfa B

(c) Sfio dlo wHo TEfiar 1grw, IWiR AR
I=Aa1 & Geol § T (AhEH) Fard €1

(d) I' Faa ¥ AREEl (ReE) % fag
Y1 JeH el B
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107. According to the Indian Meteorological

Department, which of the following
is/are the feature /features of
cloudburst?

1. Heavy precipitation in short period
of time in a limited geographical
area

2. It occurs generally during monsoon
period and triggers flash flood and
landslides

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

108. In a group discussion on shape and size

of the Earth, three students stated the
following points :

1. Student 1 : The shape of the Earth
is basically an oblate spheroid.

2. Student 2 : The polar diameter of
the Earth is more than the
equatorial diameter.

3. Student 3 Bulge along the
equatorial region is due to
revolution of the Earth.

Who among the above students is/are
correct?

(a) Student 1 only
(b) Student 1 and Student 2 only
(c) Student 2 and Student 3 only

(d) Student 1,
Student 3

Student 2 and
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109. While watching news, you hear about a

place, of which you had never heard
earlier. You want to know more about
the place and you want to locate it on
the map. Which of the following is/are
required for you to be able to locate the
place on the map?

(a) Only latitude of the place

(b) Only longitude of the place

(c) Both longitude and latitude of the
place

(d) Latitude, longitude and altitude of
the place

110. Which one of the following statements

with respect to Global Positioning
System (GPS) is not correct?

(a) 1t is based on network of satellites
orbiting above the Earth.

(b) It is based on the system of
triangulation.

(c) GPS receivers provide location in
terms of latitude, longitude and
altitude.

(d) 1t provides information exclusively
for military operations.

[ P.T.O.
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111, F=fafas & ¥ F9-w1 97a =1 wifdafs

R E 27

(@) T FrgEfea i S
(b) TER SR ST ST
(c) TEE faser =i s

(d) TSR Afgen =M

112. yHH wRa § frm < 96 3 ‘9w wyra H

1 & Aler@ T S (S fordt oft?
(@) <M FH-H (Wang Xuance)

(b) M (Xuanzang)

(c) SfHT (Yijing)

(d) < f&fs=nen (Li Yibiao)

113. 99 2019 § §T 9RA hil G & o wH F

TE ¥ forgent 34 gan a1?
(@) 144 & @
(b) 1591 &k |
(c) 1691 & T

(d) 174 @ e

SDFR-F-TAG/44A

114, TSR T Ged g R T ) e §7

(@) AHT TFHR (Ter TaHHe)
(b) TEEEA
(c) W e

(d) Fd-TrA (FR-TeER)

115. ‘smf@m fil wWada B Ao (R

SR e 3feidw)’ § Frafafea & @
HH-T1/FH-8 AR /AR 1 3g@
T 7

.. 9%

2. oA
3. Y@ (GIEwd) =1 e
4. Syl

= fow 7T %2 1 W W Ed s ghu)
(@ a1

(b) FaA 1 AR 2

(¢ 1,23R3

(d 2,334
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111. Which one of the following is not a
Constitutional Commission of India?

(a) The National Commission for
Scheduled Castes

(b)) The National Commission for
Scheduled Tribes

() The National Commission for
Backward Classes

(d) The National Commission for
Women

112. Which Chinese traveller in ancient India
wrote the diary called ‘Records of the
Travels to Middle India’?

(a) Wang Xuance
(b) Xuanzang
(c) Yijing

(d) Li Yibiao

113. The elections to the Lower House of the
Parliament of India, held in 2019,
constituted the
(a) 14th Lok Sabha
(b) 15th Lok Sabha
(c) 16th Lok Sabha

(d) 17th Lok Sabha
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114. Panchayati Raj Institutions are primarily

the institutions of

(a) Popular Government

(b) Self-Government

(c) Federal Government

(d) Quasi-Government

115. Which of the following is/are the right/

rights mentioned in the ‘American
Declaration of Independence’ ?

1: ldfe

2. Liberty

3. Pursuit of Happiness
4. Fraternity

Select the correct answer using the code
given below.

(@) 1 only

(b) 1 and 2 only

(¢ 1,2 and 3

(d 2,3 and 4

[ P.T.O.
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116. ¥ ¥ g omih wula 3 deda =t ‘s 118. TR &3 § IO % 9NH, AUH & ReEE
%1, a1 & forg 3R e g s wha? TMemen fe@ar R, st Wil awf & @ro otem &)
T 3R vEre ¥ ™ ik mn fefafea & @

(@) ¥TEn R fora wfsran/fom wfeenett & aRumreeg ¥

BT ®7
1 &0
(b) ITHE STHEH i
2. A
3.
() W i i
= R g e w1 W W w9 W g
(d) ST Tho FAgt prar
(b) Fa& 1 3R 2
117. 9ot 78 i ofee ) TR @ g sEhm (c) a2 3R 3
i b @ 1,233
1. 4-98 | J&% WH * fow s an
for g ?
2. gt ¥ T ArpET TR AT & 119, ¥-¥W@a & Hed #, Frfafas i # @
Zmﬁ%rét{ﬁ A T
3. ELss| Bl
¥ s geht <t i & frm Ry w RmE i ;ﬁ?ﬁmmwmmm
3 :
2. A gWa: YR gfveEre ga (w@-fe
IR § ¥ HH-H wE e 287 uigd) § ufed B £
3. U 9 ¥-TEer IE B R
ol e A3 e T 2 1 R R g
(b) ¥ 190 2 (@) ¥ 1% 2
(b) Faa 1 3R 3
(c) Had 2 3R 3
(c) Faw 2 R 3
(d 1,23R3 (d 1,23R3
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116. Who among the following American.
Presidents described democracy as
“Government of the People, for the
People and by the People”?

(a) Abraham Lincoln

(b) Thomas Jefferson

(c) George Washington

(d) John F. Kennedy

117. Inhabitants are unaware of the speed of
rotation of the planet Earth because

1. the angular velocity is constant for
each place on the Earth’s surface

2. the atmosphere rotates with the
Earth

3. there are no nearby objects, either
stationary or moving at a rate
different from that of the Earth

Which of the above is/are the correct
explanation(s)?

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d 1,2 and 3
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118. While travelling to a hilly region, you

notice a massive boulder, which was
loosened by heavy rains and moved
downhill. This has resulted due to
which of the following processes?

1. Mass wasting
2. Erosion
3. Weathering

Select the correct answer using the code
given below.

(@) 1 only
(b) 1 and 2 only
(c) 2 and 3 only

(d 1,2 and 3

119. Which of the following statements in

respect of landslides are correct?

1. These occur only on gentle slopes
during rain.

2. They generally occur in clay-rich
soil.

3. Earthquakes trigger landslides.

Select the correct answer using the code
given below.

(@) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only

(d 1,2 and 3

[ P.T.O.
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120. & fas gfimen & ar #, fefafad 122. ‘feifie Hifd’ 9= =1 @ w&6vem fFEs g

Tt w fomm fifs foran m an?

1. 3ffayaw dq $i g @ fam v 9% 6
IS U T T F Wy R (@ o To wiehl

2. I8 @hi & arel (WhRR) IR ydarifa (b) Fo THo YA
¥ forg Sl 3

3. al fufa w9 A verell w1 fire, e, (c) ¥miee el
Traer o s& Wit 2

(d) ¥Ro Teo Tt
I fomiwansti & @iy Frafafaa & @ fea

qftere 1 3 87

(@) FEGY (Feid) 3R Ga1-yaTe 123. T faenam (Fm ¥ ¥J9%) F1 e PR
o en?

(b) Temuma (TEerw)
(a) wETH TiEh

(c) ¥ FaeH '
(b) TH 3Tegd THFFR E@H

ﬁa_ «

‘» (c) THo To fan

(d) THo THo HIA™

121. 9G¥ qiged fien o arsafas $9 @ URY 9
{ T ST bl 87
124. 1927 %1 HelS UAWe fhash i maifsa fon

(@ 1813 %1 = W TR

Hflo Mo T
(b) 1793 I AR T (@ ki

(b) eI TiEh
(c) 1929 T RET T
(c) THo Hio I
(d) wRdE e ®| A & wEga (Fee),
1835 (d) < foes
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120. Consider the following features about a 122. The term ‘Industrial Revolution’ was first
geographical phenomenon : used by
1. Torrents of snow and ice roaring (@) J. A. Blanqui

down a steep mountain side

(b) T. S. Ashton
2. It is hazardous to skiers and

mountaineers
(c) Arnold Toynbee

3. It involves a mix of falling, rolling,
sliding and flowing of materials’ (d) R. H. Tawney

Which of the following phenomena can
be identified with the above features?

123. The Khudai Khidmatgar (Servants of the

Sl d earthfl
(a) Slump and e b God) was organized by

(b) Avalanche (@) Mahatma Gandhi

(c) Landslide (b)) Khan Abdul Ghaffar Khan
(d) Rockslide (c) M. A. Jinnah

(d M. M. Malaviya

121. The real beginning of western education

in India can be dated from
' 124. The Mahad Satyagraha of 1927 was

organized by
(a) the Charter Act of 1813

(a) B. R. Ambedkar
(b) the Charter Act of 1793

(b) Mahatma Gandhi
(c) the Sarda Act of 1929
(c) S. C. Bose

(d) the Macaulay’s Minute on Indian
Education, 1835 (d) Lokmanya Tilak
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125. GNUS TN (T 6 WS FA Gl G19)

1 T TR it ofi?
(a) o sma
(b) e FA
(c) o IRo =TI

(d) Ho TSFIITATET

126. 134 v =1 99, SEmefd e Fefafaa ®

¥ forw fawg @ S T 27
(@) AGA-FeAl '

(b) ey sEa

() Tfte wems

(d) JueE deft

127. TF9 A uf9 Jaed § F w9, S e-ag

IR (THo To THo) & &5 H A| A hiaA!
% fopm 3w % Jar A7

(@) TSR
(b)

(c) Fel

(d) =
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128. WA YR H I5HT 99 o1 fo=r wgl @ forn

™ oY

() S &

(b) TFEmEl g7 6 7€ win

(c) IR |el (a4 gfaat) grT it 18 |in

(d) ¥Ra % "ias & gay # nidfard g

129. i, nfd, few, a=q ik 9@ foras am 87

(a) ¢ T fomm
(b) THEA-TIA
(c) HEm F=

(d) =Hamd

130. F=fdafaa § § F9-w1 U9 /49 T8 RdE

@ eash & Wy 9 2021 H geI°
(@) Tosim
(b) <@
(c) WP

(d) Tafem
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125. The Satyashodhak Samaj (Truth-Seeking
Society) was set up by

(a) Vinoba Bhave
(b) Jyotiba Phule
(c) B. R. Ambedkar

(d) C. Rajagopalachari

126. The 13th Century text Lekhapaddhati
gives us information on which one of
the following topics?

(a) Art of writing
(b) Essay writing
(c) Legal document

(d) Epigraphic style

127. Nkrumah was one of the five leaders, who
comprised the core of the Non-Aligned
Movement (NAM). He was the leader of
which country in Africa?

(a) Nigeria
(b) Kenya
(c) Uganda

(d) Ghana

SDFR-F-TAG/44A

128. The idea of Planning in Independent
India was drawn from

(a) the Bombay Plan
(b) the demand made by peasants

(c) the demand made by workers’
unions

(d) the Gandhian vision of India’s
future

129. Nisarga, Gati, Nivar, Tauktae and Yaas
are names of

(a) new fighter aircrafts
(b) tourist places
(c) weather stations

(d) cyclones

130. Which one of the following States/UTs
was connected with the Indian Railways
network in the year 2021?

(a) Mizoram
(b) Ladakh
(c) Manipur

(d) Sikkim

[P.T.O.
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131, IWEUE & S, ferrae wou A Fg @ iR

e T AR d qgeR (IF) T
Frafafaa § 4 fra Hro A @l § 7

(@) FNHEHA
(b) TEHA (BRE FRR)
(c) == Wit @1 = | Rer (dfe)

(d) " @

132. 9Rd ¥ Al SR §Y USEE B T ded %

dey ¥ fefafaa # @ F9-11 9 77
(a) 28 TG R 8 T TSA&A
(b) 27 U9 3R 9 T TSI
(c) 30 TG iR 6 T TSA&S

(d) 29 U9 AR 7 ¥ TsA&=

133. 2w (&), afew IR (=) ik A ()

freferfaa # & fore w9 87
(a) THO

(b) HTH

(c) TTAIEESH

(d) ST
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134. TU-3IVHREHT HEYA &A1 F  UEEU h

w4t =W w9 6 gvEa efafaa § @
foraeht 27

() TEH

(b) TEEMS

(c) S

(@ Terem (i)

135. F=fafad wed § 4 50 gdvem BmREE #

TSI WTH gAY
(@) e
(b) ufE

(c) =TT
(d) afErTeA

136. ¥Rd #, ¥R W AR 3@ qfn, AR

I iR w () B gEen Frafafaa
% ¥ forgeh ferdtyand &7

(@) I v&q
(b) TEEYH YSR
(c) 0 e
(d) TR H—H

137. T& ANk X WRA & fdl &3 @1 9 R v

T8l W W, W, S5 3 o F Iz )
gy F=fafas # @ fem &3 &1 fen
qm?

(@) ATATER G
(b) TRI Y&

(c) FEH e
(d) TEEEET &
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131. The forests of Uttarakhand, Kullu Valley 134. Which one of the following is likely to be
in Himachal Pradesh and Dzukou Valley the most prevalent form of weathering
in Nagaland and Manipur were in the in hot-tropical desert areas?
news on account of which one of the .
following reasons? (9 Nechapical

(b) Chemical
(a) Deforestation (c) Biological
Leachi
(b) Forest fire (@ o
(c) Poaching of wild animals 135. Which one of the following cities was the
first to attain the status of a ‘megacity’?
(d) Illegal mining (a) London
(b) Paris

(c) New York

132. Which one of the following is correct in

respect of total number of States and
Union Territories in India?

(d) Washington

136. In India, rigid and stable elevated lands,

(a) 28 States and 8 Union Territories denuded rocks and series of scarps
are the features of which of the
following?

(b) 27 States and 9 Union Territories
(a) Northern mountains

(c) 30 States and 6 Union Territories (b) Peninsular plateau

(c) Northern plains
(d) 29 States and 7 Union Territories

(d) Coastal plains

137. A person had visited a region in India and
found trees, such as Khair, Neem,
Khejri and Palas. Which one of the
(a) precipitation following regions is she/he expected to
have visited?

133. Snow, sleet and hail are the forms of

(b) condensation (a) Malabar Coast
(b) Garo Hills

(c) transpiration
(c) Sunderban Delta

(d) evaporation (d) Desert Region
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138. Fm=fafan wua w famm fifsw :

1. 99 fYe w99 o I §W €9 H Ad
T&d 3R wuidid B 2|

2. IV, AW IR FEGW F HRO
el 1 ST Bl B

I0g HE H ¥ FH-W1/FA-Y T B/70
(@ Fad 1

(b) A 2

(c) 1 3R 23H

(d Fd1IMAH 2

139. ULV, F&q &RV, AW IR REE

frafefaa # ¥ fra when & g% &7
(@) ¥R (SFSTH)

(b) st SfwT (GESHR Srew)
(c) veetfere (fedggTiesw)

(d) vda Fmio

140. IR} 39 AA, e 3R AR W (AQF)

TG IR §, q v et § @ R
Y TSI8F h g wE e

(a) 3vEHM IR FFER fowg
(b) T
(c) F=

(@) <&@
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141. T @ &, wRig Fus s dfea iy wers #

g | ) A fefafad § 4 e s WA
% amoft 47

(@) AR
(b) TG
(c) TETH

(d) TRE

142, YRd 99 Tea 68 s=e e fafa sm?

(@) M
(b) Teiidia
(c) W&

(d) =T

143. ¥H ¥ F9 9YRd & I=qH AEEE g0 g

giufy =1 ey R, S 3 oRfeufmt 6 si=
T, s SR e € & gaeEs # wifthen
o # Tk FeE -3 (J6) W FE fire 9
T @Y

(@) G €5 Heam

(b) A I 5

(c) —rREfd FaH fae

(d) =Egfd Aféea weft T
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138. Consider the following statements : 141. Legendary Kathak dancer Pandit Birju
Maharaj died recently. He was the

1. Rocks do not remain in their doyen of which one of the following

original form for long and undergo Gharanas:of Kathak?
transformation.

2. Transformation of rocks is caused (@) Jaipur
by weathering, erosion and 3
metamorphic action. (b) Raigarh

Which of the statements given above (c) Lucknow

is/are correct?
(d) Banaras

(a) 1 only
(b) 2 only €

142. In a first, India is to export BrahMos
(c) Both 1 and 2 missile to

(d) Neither 1 nor 2 (@) Bhutan

: : : (b) Philippines
139. Weathering, mass wasting, erosion and

transportation are indicators of which

one of the following processes? fel, e

(a) Denudation (d) Nepal

(b) Endogenetic process

(c) Diastrophism 143. Who among the following is the Head
of the Committee appointed by the
Supreme Court of India to enquire into
the circumstances that led to the Prime
Minister of India’s convoy being stuck
for several minutes on a flyover in
Punjab recently?

(d) Mountain building

140. If you want to observe moraines, eskers
and outwash plains, which one of the
following Union Territories you may

h 1 isit?
ave to visi (a) Justice Indu Malhotra

(a) Andaman and Nicobar Islands

(b) Justice Ashok Bhushan
(b) Lakshadweep

(c) Puducherry (c) Justice Navin Sinha

(d) Ladakh (d) Justice Rohinton Fali Nariman
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144, 7 ¥ fFaR o1 Fier & sifm e 3§ w fase 147. ¥ ¥ % WA R a1 W 9R0g F Ay 87

A 2 Topehe | w=m fern? e S
(@) TS faferd (b) F=m fom wft
RIER LI
(b) - (c) T o6 L8
(d) WA % Tgafd
(c) T g =wis
f Sor 148. WWWWW(mo o Hio o) 7
9. el € 3 e Seee (e de) ®) fra Ao &
Avfigra form 87
2fhfirdz) Aoft
145. T € #, YRdIG AR FgEYE e (FE) » :TE( )
¥ 7ud soay ¥ w9 o A feweh fghe A (b) FhewE (TIESE) Aot
b A (c) THewd (FreR-92e) aoft
(@) To THo R TR (d) =R-Thene (frfewfa wEs) Avft
(b) o fr 149. YR TR 3 fra fify | Ik ara faw’ ¥ w9
A Ha w1 fAofa foran &7
(c) o TAFVH
(@) 6 3AET
(d) THo HF (b) 26 TR
(c) 26 feEr
146. = W R, 2021 ¥ AR, AT A TR (@ 6t
¥ wra ¥ Frafafga § @ fora ts9 @ walfos
-3 7 150, fefifaa § @ fra wem 3 14 sWad, 2022
H Afis g TRER TeRA FRIET H1 S
(@) 3hfem R a7
(b) IS HACHE
9 e (c) TR 3R YRER FHeam Jaed
(d) o (d) THeA vAEH
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144, Who among the following retired from
test cricket by bagging a wicket on the
last ball of his career?

(a) AB de Villiers
(b) Michael Hussey
(¢) Quinton de Kock

(d) Ross Taylor

145. Who among the following is appointed as
the tenth Chairman of the Indian Space
Research Organization (ISRO) recently?

(@) A. S. Kiran Kumar
(b) K. Sivan
(c) K. Radhakrishnan

(d) S. Somanath

146. According to the Forest Survey Report,
2021, area-wise which one of the
following States has the largest forest
cover in India?

(a) Odisha
(b) Madhya Pradesh
(c) Arunachal Pradesh

(d) Chhattisgarh
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147. Who among the following is the
Chairperson of the Goods and Services
Tax Council?

(@)
(b)
(c) The Speaker of the Lok Sabha
(@)

The Prime Minister of India

The Union Finance Minister

The President of India

148. The International Union for Conservation
of Nature (IUCN) has recently
categorized the Red Sanders (Red
Sandalwood) into

(@)
(b)
(¢) near-threatened category

(d)

deficient category

endangered category

critically endangered category

149. The Government of India has decided to
observe Veer Baal Diwas’ on

(a)
(b)
(c) 26th December
(@)

6th October
26th November

6th December

150. On 14th January, 2022, which one of
the following ministries has organized a
global Surya Namaskar Demonstration
programme?

(@)
(b)
(c)

The Ministry of Culture
The Ministry of AYUSH

The Ministry of Health and Family
Welfare

(d) The Ministry of Tourism

[ P.T.O.
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